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= 0 eTe018 BTL(HS

T Yy z
Answer: |2z +2a 2y+2b 2z+4 2c
a b c
T Yy =z T Yy =z
=2z 2y 2z|+|2a 2b 2c
a b ¢ a b ¢
=0+0=0
)| = z+1], . .
6T LOGILIL ST6soTEs
z—1 T
Answer: w z+1 ’= X2-(x=1)(x+1)
rz—1 T
= x2-(x?-1)
= x2-x2+1 = 1
3) z—1 T x—2
grss | 0 x—2 z—-3|=0
0 0 z—3
rz—1 T T — 2
Answer : 0 r—2 xz—3|=0
0 0 z—3

> (x=1)(x-2)(x-3)=0
Xx=1,x=2,x=3

4) T
[i ; o LFFlwmHm Camemeu oewofl sTertss ST (HIS
8 2
Answer: A=
4 3
2
|Al=
4 3
=24-8=16
#0
=~ A eTedTL &) |€|:,é=5€]u_|Lorj)rrr) Gameneu oi6sofl 9y, (&L
5 (wzl_l) = ﬁ + z+1 sTeoTLUGTTEUMDMN 6V A, B LDALIL S 6m6TE: ST6s0TE
Answer : (2—11) = ﬁ + xfl 6T60TE

@ wYMEPLD (x- 1)(x + 1) 3460 ClL(HEHS
1 -A(x+1)+B(x 1) (1)

X ‘IGrGUﬂe‘o 1=A(2)

A __
x-—1 6rsoﬂ61) 1= A(0)+B(-2)
. B=1
6) a‘?@asrr@um L9 6bTEOT RIS 6M6TT LG5 LI 60T60T RIS 61TITES LDMDHM)|&5: zf’gjﬂ
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A . 3z+7 3x+7 _ A +
NSWer: 2 3242 ~ (a—1)(z-2) a2
3247 _ A(@=2)+B(-1)

(z—1)(z—2) (z—1)(z—2)
3z+7=A(x—2)+ B(z—1) ..(1)

x = TedT

3+7=A1-2)=A=-10

X =2 68T

6+7=B(2-1)=B=13
3x+7 _—10_|_ 13

Cta2-3x+2 z-1 -2
7) NOTE' eT68Tm gg,rm@s\)& Cl&m6LE516L 2_6ITEIT [BIT6DT(S) 6T(LDES15HSHEM6T 68 TewoT (H),6T(LD& SIS S6IT BesoT(HID 6UTTSHeUTm)I,
STSSLMM HEVEVG| HTHSHLD 2_6BIL I 6UTTHEDSHSH6IT 6185601657 2_(THEUTESHEVITLD?

Answer : Qamhl&aslULL gy ki&lev eumysens NOTE —60 2 6iT6IT [BIT6T(S) 6T(LD &S| 88 606IT,8LDSH650TL6UTM)| [BIT6T (S
SmeolWLgEen6 GlamssoT () (GMILGUITLD

| | | | |
1 2 3 4
WPS6L BTEOUINL G608, BITEIT(S 6T(LDESS18E6M6T 6l&TessT (), BTEoT(E, 6UL&6M6 BITFLILIGVTLD. 61L& SI88emeT LBesor(h)L
BYeD LWTUHISS (PIYUTHSTEV, @QTESITLITLD HTeVIIILSHmS 3 (PEDEEITIEVID 6T STedluilLSHens
%U’Gﬁ?ﬂ'@ auflerflan|d, &enLdl QL GHems @ UIUINID HIFLILIEVTLD. CIL(HESHES6T SigLILIEDLS & TeTenulleTLly
2 (HeUMESLILGHID GITSS eUTT&HenS&S6Ifl6T sTevoTesalldena 4 X 3 X 2 X 1= 24 UTTHENSHEH6T (G0

81 = =
) +10'_11'

6T65fl60 N —68T LOELIL| HIT6ToTS
1 1
Answer:m—l——':l
1 1 _ n
9" 10x9r ol
—_— _n
gt gl =
1 11 __ n

9! 10 11!
_11'x11

T 9Ix10
_11x11

10!
_ 11x10'x11

— T 1o
n=121
9) gp6uleurm(m (HM&ECESTET al6sTTe LD HIT6tT(S, eUMUILILIG&em6 GlLM Ml (IHLILS6DT, [HT6tT (S 69168TTE: & (6THEs (8, CILDTSH LD 6T88 68 65T
sulflserflev ellemLwefl&aseumin?

Answer : 66UGleUM(H aflesTmeNM(S)LD, 4 OT6DLEHET 2_650T(H), 25606V, 661616UIM(TF AT 6TTTENEULLD BIT6T(S) euLPlS6T 60
aflemLWwsrfl&ae6uIiD. eTesTGe, [BITeoT(S) el6aTTE & EHESE, = 4 X 4. X 4 X 4 = 256 sulfl&erflev aflenLwierfl&s60mD

10) 458 eNMHLIEn6ST HevL U6V, 6 6uetilgHal Wy LGS P, 5 S65518 G LLS N6 LSS (LPLD 2666 . LG SHELD 6Lk
6T (IHLOLJLD 6Q(IF LOITETBTEL6DT LSS58 Mmis6160 67 Ca 601D 6065T6m M) 6788 6Mm65T 6ULH&6TTl60 6UMMHISEVITLD

Answer : 6 6uettTl &6 WIEY LSS EMmIS6T60 qetTenm 6 suLEl&6M60 eUMMIGEVTLD. 5 S65Ta L LSlaNwisy LSS smigerley
Q65TEnM 5 6ULHIGEEIT6L CUITTRIBEVITLD. FoLl L6VI6T g LILIENLE GsmeTenssLily @l6uesl(h LITLLSS8kIS6T60 FGHenID
@Gsrsmg) 5+6 =11 sulflserfleb eummIgSevITLD.

11) _|_ e %GI'GUﬂGIU x- 65T LHLIEOLIS HIT6ToTS

—_

€T

1
s

Answer : E —+

x
+ 7x6' T 8xT7x6!

1\ T
a+( +7)_8x7><6!
8 _ 6z
7_88><87><76!

__ SXoXi __
== =64

64

12) “LOGARITHMS" 6T68TD 6UMT&EnSHUIN6V 2_6IT6T 6T(L05S1886m6TLI LIW6STLI(HSS), (6105818 8606 LessT(Hl @)L LOGILMTSeuTm)
SITSHSLD 2_6T6T SI6V6V5| HTSHSLOMM) 4 6T(LPSHG| UMTSHENSHSHET 6T5HSH N6 S{EDLDEHSEVTLD ?

Answer: LOGARITHMS eTesTm 6uMT&6m&UI60 2 66T 6T(L0& G188 61f160T eTetuTenl1&Hemss 10
ersar(BaJ n=10
@ég)gﬂ QUTTEHENSHEEN6T [BITLD HT6T0TGEUETITIY 2 6TETSHT6V , T = 4
61 G56m6UWITEIT QUMTSHENSHS6T Npy = 10 ps
= 10 x9x8x7
= 5040.

13) nP; = 360, eT6afl6v N, 1 — 63T LHLIL|SHEM6TTE: SHIT6ToTS:
Answer: nP,=360=36x10
=3x3x4x5x2

=6x5%x4x3=06Py
sTeoTG6U N = 6 LOMMILD 1 = 4.

14) 8 LOTesETEUTHEDET 6155 6m60T 6ULYl&6Tfl6v: G T&HCaHTLIg6tT L5 euiflena i (h&&HevLD.

Answer : 8 LometateLJ&6ifletT GBTCaTLIg6T g ment suiflema wmmHmmisefletr eTetorevsllsens = 8Pg = 8! suLfls6T
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15) (a);ﬁ;»(EU 6UENSITENT 8 650 FHEM6TT 618G 6m6dT ULl &H61TI6V, Sy, LIT6seT LomensvUIley GaTTE:&H60MLD?
(b) 8 FimieuTEHEM6TE C&TETOT(H) 6T8SHEMETT ELEMETILIMRIGHENET 2 (HEUTESHEVMLD?

n—

Ans(wer ) a) G HNwmest ewsflSH6T @(F ULLSHHED HHeMSHSLILILLITEY, 6uflenFommmIkigsrfleT sTesoressllsenas
1!

- 2
_ -1 o

2 T2
b) FlmIeuTE6T (T UL LSSV Siem&HELILLLIT6Y, suiflengwmmmhigeflsr eTetoresflsens
=n-1N=@8-1)=T7
16) oy mihl6v SBTTEH N ‘CHAT 66T 6UMTEEMSHUN 6T &T&HMEHE: HIT6ToTS

Answer : &[T euiflengLitily CHAT etedTm eumigemnguilest eTwsH sl A, C, H, T.

(i) A = 3! @60 QB TLRIE LD ClFmmaefle eTetaretsflgens = 6 C QB TLE &S M

(i) CA @6b GlgTLKIG W ClFmmhaserflsi eTesoremnll&ens 2! = 2 @ LIGLITE| CH 6T6tTm 6UMTSH6m&5 86T IS TLEIEE ]
(iii) S1560T LNM(& CHAT = 1 6T60Tm 6UMF&Hem&emwiLt Glum Geurmid SrLenLules syeuflens=6+2+1=9

CHAT eT65Tm 6UM&6m&UN 60T SIFLD = 9.

17) 15C3; = 15C;,3 676016V r —60T LDFLIL| & T6BHTS.

Answer: 15C3, = 15C3

nCy =nCy =x+y = n, eresTm LissoTL9le)(Bb&I BT GClUMaIg)
3r+r+3=15

=r=3.

18) e2(p eflevTm& S metflev LNifley (=), LNifley (<) sttt @) (15 LN ifley &6t 2 simarment . gpsuGleum(r LNifleS)MH &L 10 eSewTme:&6iT
2 6iTeImenT . 61\ 6BTITE S T(6THES () aﬁ]mLUJGTﬂéSG%Lb @é@ LOMmeBBTEU6DT, LI(&H S 3 —ell60)(Hh&| 8 ellenTma: & (6h& (G0, L&) (<)
-e9l6S)(HHGI 5 N6TTE85(ETH 8 &L ellenL el &8 GeuetsT(HILD eTesflev, sTdh g en6tT sULfl&6160, HLbLomesoTeU | O 6uT TS SHEMETS
CaiHo5 (H&&6MD?

Answer : aflearmg g meiflev LGS (o) —a96dl(HHg) 8 eflesrmssemer 10Cs euLflserflaniid. LGS (Sy,)-6960 2 6iTer 10
afleora&61fled)(Hbg 5 allesTme:s&6em6m 10Cs mﬁjaaerﬂgyfo Ca oS (H &H86VITLD. 6TesTG6L gDU@ésaasi) ClamsiTens
aN&liLig Glrss Gs ey serfleT srevoresnlldemnas

10Cg x 10C5 = 10C, x 10Cs

_10x9 10x9x8XTx6 __ :
T 2x1 X 5x4x3x2x1 _1134()@@56“'

19) Ul L& &6t LBgl6Tar 21 Liserfls6T suLflwimss 6788 6M68T [HIT6BOTS 6T 6UEMITILIEVTLD?

Answer : 6(Th Cam(h euenTous M (& @ Tsver(h YeiteiflaeT GaHemeu
prsssaflsir eretoenfiGens = 21Cs = 230 = 210 presraser

20) 7 gy rilev QWG WIS SISH6T HMID 4 Yy midlev 2 uUNCTLSHEIsH6ed (Hhgl, 3 G W (DS 8IS6T LHMILD @) Fsver(h
2 INEITWEGIHEm6T CHTHOISHES), 678 5H6D60T 6UTT&HNSHEH6T 2 (hHEUTESHSHEVITLD?

Answer : eUTT&e0SH &6 60T eTevtTensi|GBena = 7C3 x 4Cy x5!

_ Tx6x5 _ 43
= Feax1 X axx X 120

= 25200
7 Gl LHMID 4 2 UNCFWSGISSHET 3 CWMmID 2 2 uNCT(W&HSIHsEmeTs CaHTHoSH GHMD. TC3 X 4C,
@s6ueurm 2 eitemest 7C3 X 4% @6UGleumssTm|Ld 3 ClourbmmID 2 2 LN6IF(WSHISHse06Ts Cla et (hHsiTerg). e6ubleum(m
(& (WDELD 5 6T(PE S 5H5H6M6TTE: )& TEToTIY (HLILISITEY; SHeM6U SIS EHE: &6T 5! @60 suiflenFliLI(HlSHSLILILEVITLD 6ULfl&H6T.

21) FHmILIY CamHM&m &L LiweTUHSE) &L smessres:(101)*
Answer: (101)*=(100 + 1)*
= 4Co (100)* + 4C; (100)3 (1)" + 4C, (100)? (1)%+4 C5 (100)" (1)3 + 4 C4(1)*
=100,000,000 + 4 (1,000,000) + 6 (10000) + 4 (100) + 1
=10,40,60,401

22) @ CarhsEns @ @entuuiL Gameurd 7, G @b CaTLiyer Fmiley 3, sreufl60 MG GaMLigeir FTiisnes
SHITET0TS.

_ | mi—ma2
tan @ = 1+myms

3 = =T
@miE m, —33 8=7
. T __ —my
stany = '1+3m2
,I - 3—m2

14-3msy
1+ 3m2 =3—m2

=1
=>m2—2

Answer: mq LD;’D%JL'D My UEI LD SHEMET STl SH6TTS 2 enL CHTCaHT(H & EHSE @enLliLlL Camemrd 6 eresflsy

MGy CaHTiigedT FTiliey %
23) acrru'_lsqaasiT% LHMID 3 2 enLw CHIECHT(H S EMSE @LLUILILL CHTEIS NS STews.

Answer : 45°

24) emLowild (3,-1) LOMHMILD YLD 4 2 6OLW 6UL L SH65T FLO6STLIT(H) SHT6voTS
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Answer : 6ULLG& 6T FloeTUM(h) (x-h)? + (y-k)2 =r?
@i, (hk) = (3-1) Gosy|b r =4

(x-3)%+ (y+1)2 =16

X2-6x+9+y2+2y+1 = 16

x2+y%-6x+2y-6 = 0

25) (4, 1) etedm siterluNed) (Hb &1 3x-4y+12 = 0 eT6dTm G&IT(H) 2_6iT6T Q\FMI(&HSH G| HMTTHNSHS SHIT6ToTSH
Answer: 4 g|6\)@656i‘|’
26) (2,4), (3,-2) etetTLIENT 6@(TH eNLL&HH)6T (LpemesTLIL|6T6TT 6T 6T6nfl6D, Bi6lieu LS 60T FLOGTLITL6DL 8 &T68oTE.
Answer : @\( LsiTeI 606 @)6metorss &L CamLlgemet el LLDMEE ClasmesorL 6ul L gHeiT FLostTUIm(H)
(xX1)(x-X2)+(y-y1)(y-y2) =0
@i (x1.y1) = (24) LODID (x2.y2) = (3,2)
~ (x2) (x-3) + (y-4)(y+2) = 0
x2+y2-5x-2y-2 = 0
27) (4,7) wmHmILd (-2, 5) eTedTLIENEU (T L& H)6T (LpevevTLiL|6Terfla6r eTesfley Betieul L g &leT FoetTUIM(H SHTesorss.
Answer : x%+y2-2x-12y+27 =0
28) x2+y2-8x+6y-24 =0 61657 6ULLGEH6IT 6OLOWILD LOMMLD S THENSHE &ITET0TE.
Answer : 6ULL&&65T FLo6OTLIM(H) X2+y2-8x+6y-24 =0
@rEg=-4f=3,c=-24
en WD = C(-g-f) = C(4,-3)
aurbr=y/g2 + f> —c
/16 +9+ 24 =7 |6V(5
29) x2+y? = 25 6T60TM UL LG H60T HI6METTTIEV (S, FLOGTLMT(HSHED6TE &TEE8Ts.
Answer: @\ r2=25 - r=5

BUL L &HH)6IT H|6M6BTLLIEV () FLO6STLIM(HE6T X=r cos 8, y=r sin 6
> X=5co0s 0,y=5sinB8,0=<0=<2n

30) (-2,5) 66t Ly6TeINUNL &g x2+y2+3x-8y+17 = 0 61651 6ULLSHMD (G, euenTWLILEID C&T(HICHTL 96T FLOETUML6MLE &T65oTe:
Answer : (x1,y1) eT6oTD LisiTerfluflev Glasm(hlassLiLl(heTer sulLgH M@ susnpiliLiblb C&mHCaLigest swesTLm(h
XX1+yy1+3 x% (x+x7)-8 X % (y+y1)+17 =0

@m& (x1y1) =(-2.5)
2%+ 5y+3 (x:2)-4(y+5)+17 =0

-2x + 5y+ 3 x-3-4y-20+17 =0

-4x+10y+3x-6-8y-40+34 =0
Gapemeuwlmert Q&THGCHTLIg6T FO6TUM(H X-2y+12 = 0 oy GLD.

31) x2+y?+8x+4y+8 =0 6651 6ULLSHH M (G, (2,3) er6vrm Li6ireNuNeS b euenrwiL@Bb Q&mHEaTLLgetT HeTid &essrs
Answer : x%+y2+2gf+2fy+c =0 eT6dTm 6UL LG SN (& (Xqy1) 6651 LsiterluNed (hrbg suemrwiiLiGid Qg mHCasmiigest Herrid
SIBmeUG| O\&THGCSHTLIg60T IH6TLD = \/xf + y2 + 29z, + 24y, + 8

= (/2 + 32 4 8(2) + 4(3) + 8 [@1ai® (r1)=(23)
v

QamHICHTLIg68T IFTLD = 7 B160(8&6T.

32) (1,2) er6v1m Ly6iTerlugNed) (Hb ) x>+y>-2x+4y+9 =0 6163 6ULLSHH M (& euenTWLILIHID QSTHCHTLLg60T [B6TLD &Tesrss
Answer: /20 &IS\)@BSG?I’
33) Epsarem|b HiflCamernTidld aN&ghisefler L SHen6Ts SHmesorss. sin 150°
Answer : sin 150° = sin(1 x 90° 4 60°)
SIBmeug| 150° @T6seTLITLD &ML LIEGHHIUN6L Si6mLD6USHETTED
sin 150° = sin (1 x 90° 4 60°)
= cos 60 = %
34) Bp&sTem)b SN CamenTiS eN& srisem e H L &eneTs Smesss.tan (—1215%)
Answer: tan (—1215°) = —tan (1215°) = — tan (3 x 360° + 135°)
= —tan (135°) = —tan (90° + 45°) = — (—cot45°) =1
35) £ ame)|b HiflCamenTid ald smiserfler LEHLILGmeTs sresurs.sec 14857
Answer : sec 1485° = sec (4 x 360° + 45°) = sec 45° = /2
36) L& a6l @eubleum HiflCamanTih aNSlgriserfleT H L Smers smesrs.cosec 11257

Answer : \/5

37) cos A = 2 mmib cos B = 12

5 37“ , eresfl6v sin (A — B) eudweummlest HLIL| STesorss
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Answer: 9i5meug| \(\frac {3\pi {2} A bHMID B &ElWi6wT BT6TSHTD SMev LGH U6 Senw&lme|. sTesflev
sin A wmHmIb sin B gy&wemeu @smm@g%)]&mng,rras (HSGLD.

cos A = % wmHmID cos B = %,
24566,

sinA=—-+v1—cos? A

- _ _ 16
=7y 1-3%
_ _ [25-16
- %

3

5
sin B= —+/1 — cos? B
—1u

169

_ _ /169144
169

_5
13
sin(A - B) = sinA cosB - cosA sinB

= () (%) -(6) (%)

_ 36 , 20 _ —16
=% &% 6

38) cos A = £ wpmid cos B = 12, 3T erevflév cos (A + B) plwieuppfletr oFIL Smesorss

Answer : gigmeug) \(\frac {3\pi {2}, A HMILD B oy HIWLI6T [BTEITSTLD ST6v LiGHIudley Sienlp&lms). erevfls0
sin A ommib sin B g fweneu Genm@&Gm) 2 enL ST @) (58 EL0.

24,5Ge,
sin A = —v1 —cos? A

__ [169-144
= 169

- _5
= colsg(A + B) =cos Acos B —sin Asin B
= () (55) - (-3 (%)

48 15 _ 33

~ 65 65 65

39) EP&HHTEHTLIENEUSETTI6T (PSH6TemLD LHLIL| SHTesoras.sin' (1/2)
Answer : sin” (1/2) =y@r5'u@ % <y< % 6T60Ts
siny = (1/2) = sin (%)
v=(5)
sin” (1/2) et @ a6treno wHiy ()

40) £1p5 s mesoTLIENEUSET6T (LPS6ITEnLO HILIL] &mesors: tan(-1/3) =y

Answer : tan’(-y/3) =y @I g <y < g 6T60TES
tany=-v/3=tan (— %)

=3

tan”(-v/3) = 67 (pBeiTEMILD WHNILY —

41) Sl GasmestTLOS) el Hmiserle LI EEM6TE &T6soTs::
cos (—105°%)

Answer : COS (—1050)
cos (—105°) = cos 105°
= cos (60° 4 45°)
= ¢c0s 60° cos 45° — sin 60° sin 45°
_ 1l V31 128
27 V2 2 V2 2v2
42) g.mé s sin (%) + sin~! (%)

Answer : sin” (x) +sin”(y) = sin™ [w\/l —y2 4+ yV1— g[;2]
s st (3) +ain !t (3) =it [1 1§43 1]

o (55)

= Sin
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43) 16bTeu(meEUETELMMET (LPSEITENLO LHIIL|SEnETE Smesss:sec +(—+/2)
Answer: 7
44) 9eT6U(THELETEUMMEIT (PSETTENLD LOKLILIHEDETE SITesTd:cosec ' (2)

s
Answer: 3

45) Bimieysstan ! (4) +tan! (1) =

EE!

Answer : %
46) N[ : cos [tan " (2)]
Answer : %
47) &1pssevoreuMmleT LSLIL| &TetoTs: ©
cot 75°
V3-1
V3+
48) LHINEHS : sin 75°

Answer : @

Answer:

49) LHINHS: tan 15°
Answer: 2 — \/3

www.CBSEtips.in

50) f(x) = ax+b erettm &FMFLN6L f = {(1, 1), (2, 3)} 6T60T HEMWOBHSHTEL a LMHMILD b UN6ST HILILNen6ETS STEsITS

Answer: f(x) =ax+b,f(1) = 1 wOHmMID f(2) = 3 (QEsTHSHLLL(H6TeTLILY)
~atb=1woOmib2a+b=3
> a=2wHmbb=-1

z?-25

51) f(x) =x = 5 wHMID g(X)={ 5 ifr # —5 ereiomm) f, g euedFWMISSLILIHIS D] GLosy(LD

A ifr=-5
f(z) = g(z)Vz € R atesil6v A a6t GLIenL STesorss.

Answer: f(x) =g (x),Vr € RQsTH&sILLLE))
: f(=5) = g(-5)

~5-5=\
A=-10

52) f(x) = x LbHMILD g(x) = x| eTevfl6v, (f+g)(x)

Answer: (f+g) (x) = f(x) + g(x) = x + |x]|
_Jz4+z,z2>0 [ 22,2>0
Clz—z,z2<0 ]10,z<0
53) f(x) = 2* eevf16v,f(x).f(y)=f(x+y) eTevT FlMmI61 5
Answer : f(x) = 2* (QamhHl&sUuLLg])
f(x +y) = 2¥
=X 9y
=f(x).f(y)
54) f(x)=e* LbHMILD g(x)=logex eT6vl6V
(i) (f+g)(1)
(i) (fg)(1)
(iii) (3f)(1)
(iv) (59)(1) & &mevorss.

Answer: (i)e
@i)o

(iil) 3¢

(iv) 0

59) wHLNGa:lim (32 + 4z — 5)
z—1

Answer: lim (3$2 + 4z — 5)
z—1
=3(1)2+4(1)-5=2

56) . i 22446
mé\uﬁ\@aa.iz;rg—zﬁ

, .
iz:rzz(x 4:1:+6)

2
Answer: [imZE de+6 _ .

2 T2 lim(2+2)
_(22-4(2)+6 1
- 242 2
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57) wHUNH&:lim |
z—1

z—1
li 31 . 0 . 96 .
Answer : 7/77"1lﬁ 6T60T LIS | 0 6T60TMD S{6MLDLILIIEY 2 61T
z—

-1 (z—1)(z?+a+1)

bm’ =lm—_,

:lim(a:2+x+1)
z—1

=(1)?+1+1=3

58) NG Es: lim 50

2—s00 4x+1522

6
S5
Answer: [im 6-522 lim =
z—00 4x+1522 T—00 %—5—15
- 05 _ 1
T0+15 3

59 : -1z 1
) mé\uﬂ]@aa.iz_}rgowtan (1)

Answer: Yy = % 6T60T8. T — CoTenIDEILIMWEI Yy — 0 QY& Lb.

. 1Y _ i teny
agz_)n:omtan( $) ézl?% 1
60) |1 a a2
1 b b |=(@b) (b=c) (c-a) e Hlieyes
1 ¢ ¢
a? 0 a—b a®-¥
R1—>R1_R2
Answer: [1 b b%|= 0 b—c 62_62
2 , | R2— R:—Rs
c c 1 ¢ ¢
0 a—b (a—b)(a+b)
_ b—c (b—c)(b+ec)
1 c ¢’
01 a+b
=(@-Ho-9[0 1 bic
1 ¢ c

=(a-b)(b-c)[0-0+{b+c-(atb)}]
=(a-b)(b-c)(c-a)

61) 2
Y5

Answer:

4
1
2
4
1

[~
1
|

g
I

D= )

-3 2
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Answer: A = 2 4
-3 2

A= %)

=16 #0

A eretTLIg| LFFWLHM Casmemeu Si6oofl uemaswimey,ATenwg: &TesoT@WIsV|LD.

—4
3 2

At = ﬁade

2 -4
T 163 9

ade:[

6T6ufl6v |AB| 60 WIS SIT6BOTSS

womib B = ’i’

3 -1 3 1]

2 01 | C 1 -2

3x3+(-1)x1 3x0+(-1)x(-2)]

2x3+1x(1) 2x0+1x(-2)
0+2

AB =

Answer:

64) Grwrm| oiewfl (Wemmullev Hiss :
2x+5y=1
3x+2y=7

A [2 5] [m] |:1:|6T6'0T6I' 6VITLD
nswer: =
3 2] |yl |7 e

AX =B
X=A"B

g e ]

o[t

=11%0

A7 e &TeseT@) WIe|LD

adj A= 25
-3 2

Al = IT{‘ade

65)

B[O T DHETENEVEHENEITIL|MLI GILIM(HETTSTT HenLLILN6T GG 6VMmIL LI Si655f] [

www.CBSEtips.in

0.8 0.2

0.9 0'7} eT6fl60 UM TE: &l 6tT6M-

em&L6sT BlLIHSHenesTa6IlaiTLLg 38| ClFwevLI(HID euenssuileh 2 6Tems T eTetTm)| 8680t (HLT 1985 5.
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0.8 0.2
0.9 0.7

[1 0] [08 02
0 1] (09 07

[02 —02
1-09 0.3

Answer: B= [

0.2 —0.2]
II-B|=

-0.9 0.3
=(0.2)(0.3)(-0.2)(-0.9)
=0.06-0.18
=0.12< 0

[I-B| eTedTLIG,| (860D 6T6TOT.
coRM & &l 6aT60-60 &FLo6T [Hawkins-simon] lUb&emest&ssT Hlemmey GlewiwlitLe96vemev. sTesTGou CILIM(HETTS TS
SLLenWLILEE ClFwevLi(hib euensuiley @evsnsv.

66
) @ QsmHaTensvseflser GILMHETTSTT HeMmLLILN6T Q&TLH60 ML LI 26usf] [8451(1) ggg] eT6uflev U e 6BTen —
em&L6sT BlLbSHenestserflarLly GG T MaTensugsiflesr GlawsvLim(h &rr;_’?,@u_lmrrarrg)rr.erm &lﬁ‘]urrlja'saa.
[0.50 0.30]
Answer: B=
0.41 0.33
B 1 0{ [050 030 [ 050 —0.30
0 1 041 0.33] [—0.41 0.67
= (0.50) (0.67) - (0.30) (0.41)
|I — B|=0.335-0.123=0.212> 0
FTSHS WD TETS]
67) . . o . 0.6 . 0.9 . C
@\ QsrfnsTensvseflst QUTHSTTSTT HemoLieT G0 HIL LI 2sv0f] W 0.50 eTeuflev U mas ledTen —
em&Le6sT BlLbSHenestserflarLly Gl TLMaTensugsiflesr GlawsvLim(h &rr(e_’?;@u_lmrrszrrrrg).rr eT6uT a'=|ﬂ|_|rrl'jésas
[ 0.6 0.9 ]
Answer: B=
0.20 0.80
I-B-[l 0]_{0.6 0.9]_[ 0.4 —0.9]
0 1 0.20 0.80 -0.20 0.20
[ 0.4 —0.9]
II-Bl =
—-0.20 0.20
=0.08-0.18=-0.1<0
AMTSH6ITEN — 6MEFLO6IT [H1LIHSH 60 60TS6TTI6TLILY. &T8 S UILDTETTS6060.
68) . i A 4 . 0.50 0.25 : C oo
@\ Camfinharensuserflsit CUIMHETTSHTT SieMmLILN6T C&TLl60 HIL LI 36tof] 040 0.67 6T6fl60 M TE &ledTeN —
&6t BlLbSHenesterflerLily GG TIMETensvssiflesr GlaFwesuLIT(h 2 6TeTgIT eTevT %I]'I'I'U'_ISS.'
Answer: B — 0.50 0.25
0.40 0.67
I—B-[l 0] _ [0.50 0.25] Ny [ 0.50 —0.25]
0 1 040 067/ [—0.40 0.3

I —B|=0.165-0.1=0.065>0
aMMEE6iTen — enFLO6IT [HILIHSene6tTEH6T6TLILY FTSHSIWLILDTETS)|

69) _ Tz—1

ey E: LGS LT 66T MRISET TS DT M|

Answer: x2- 5XA+ 6=(x-2)(x-3)
Te—1

4132*514‘1’6 - (413*2) + (413*3) ........ (1)

BBUDLPLD (x-2)(x-3), Q60 CL[HES

7x-1=A(x-3)+B(x-2) ... )

21-1=B(1)

=B=20
x = 2 eTeor &L6dTUM(H) (2)60 NFHluf
14-1=A(-1)
= A=-13
A il . . .

7xg3%)1m_IB uﬁ]eib?:r Lofﬂu%asemm (1)ev NyHluiL
z2—52+6  (z—2) (z—3)

70) MISSISSIPPI 67657 6UMTS605861160 2_6TT6T HENETTSH G 6T(LDSHE|ESHEMETWLD LIW6TL(h &), 618 56060T 6UITTE 608861
96D GHEVITLD ?
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Answer : MISSISSIPPI eT6tTm 6UMT&608 U160 2_6TT6IT 6T(LD& &8 &6Tfl60T 6TevoT608(1H6M& = 11
@bs suTjBemSUTI6n

M 676810 67L& R(HPEDDU|LD

| 160D TSI 4 (PEDDUILD

S 6T60TD 6T(WSHS 4 (PENDUILD

P 61601 6T(0&S] 2 (PemMU|D @LDCLMIE DS

SIEMESLILIEID 6L 6en S8 6M 6T eTetoTensll86m8 N = ik

41412!

71) MATHEMATICS 6T63TID 6UTT& 608 86Tfl60 2_61T6IT MBS G| 6T(LDE S| SHSH6M6MILLD LILIGTLI(HSEH), 6T8HSH6M60T 6UITIT8 6085861
D|6BILDEHSHEVITLD ?

Answer : MATHEMATICS 6T65Tm 6UMT&6m& U160 2_61T6IT 67058188 6Tfl60T sTev0Tot0( 18568 = 11

M eT60TD 6T(RESI 2 (PEDDULD

T 6T60TD TS 2 (PEMDUILD

A 6T65TD 6T(LPS S 2 (PEDMW|LD LBS(LPETTET 6T(LDES SIS EH6T SH6VIT 6(Th (PemMW|LD @ILLb ClummIE m&|.

6TEOTGEU DIEMEBTEHG)| 6T(LPSH S| SHSHENETW|LD LILI6TTLI(H S Hem&sLILIHID 6UMTEHen&Ha6ifl6tT sTevoressilsens =#1,'2,
72) gy mighlev H&TmHluNev 2 6irer ‘RANK' 6T63TM 6UMT&HenSHUT 65T HTLD &HT6voTSH

Answer : RANK' 6T65TI) 24, m1l60 6UTT&HmSHemW & G&mevor(h 2 (HeumssLLbIb, suiflens rHmrusserfleT eresoressl&Hemnas 4!
@5 UMTHmMSUIN6L 2_6IT6IT 6T(LSHGIHSHE06T &Y auflenguilev A, K, N, R stest suflengLliLi(hig & Glsmerer Geuesor(hlLb.
A-258 Q& MeuoT (h) GIBTLMEIGLD EUTITEE0SHE6TH 60T 6TevoT6Dsf1 8560 8=31=6

K-8 & mevtT(h) CISTLEIGLD eUTTE60 S 86T 60T 6TevuTensf| 8618 =3!=6

N-258 Cl&meveT(h) CIBTLMEIGLD EUMTEHE0 S 6T 60T 6TevoT6ns 18608 =31=6

RAKeT63TE G BITLIAIGLD 6UTTEemG &6t eTessrensilgbens =1! = 1

RANK 67637 6UMSHemg =0! = 1

Fa Ll Le0l6iT lglILIenLE Cl&meTemasLiLily RANK 6T63Tm 6UTT&6enSHUIN6IT SHTLD

6+6+6+1+1=20

73) “ASSASSINATION” 66T 6UMTSHEMSUNED 2 66T 6M6TTSH G 6T(L &G E&HEM6ITIL{LD LIWLIITL (H&HE) 6T8SH6M68T 6UITITE 65886061
2 _(HEUMTEHSHEVITLD ?

Answer: GamH&HsLILLL 6)JI'I'I]'§_36‘6)§U§]61) 13 6155|8861 2 6T6menT, Heummlev 4 S's; 2 I's,3 A's, 2N's 1-0 ommb 1-T.
ghumbhaseflesr eretorsssll&Heng = 4,3,2,1,

74) nCy4 = nCg 6760160 12C,, —60T LOHILIL| & T6TOTS

Answer : NCy = nCy, 6T65fl160 X +y = n eT6dTMD LievoTLIN6dTLILY
nC4=nC56T61Yﬂ6'\),
n=4+6=10
12C, =12C49
=12C,
12x11
1x2 = 66

75) nP, = 720 wommIb nC; = 120 eTesflev r —68T LOALIL| SHT6tOTS

Answer: nC, = nTI'DT eTeoTm Gl TLTLN6BTLILG
120= 20 '

| — 720 |
rl= 155 =6=3
r=3.

76) (n + 2)Cp = 45 et6vfl6v n — 68T L) LIEBIL & TEBOTS

Answer: (n+2)C,=45
(n+2)Cpson =45
(n+2)Cy =45
_ (nA2)(n+1)
= =4

n2+3n-88=0

(n+11)(n-8)=0

n=-11,8

N, (B0 ET6TOTETOTTE: @) (H&H S (LPLgLLITE.

.n=8
77) nP; = 1680, nC, = 70 eT6vfléb n LDMMILD 1 —65T LHLIEOLIS SHITE6oT.

Answer: nP, = 1680;nC, = 70

n =170

162.30 70

rl =180 =24

rl=4=r=4

nP; = 1680
nn—1)(n—2)(n—3)=8x7x6x5
n=238

78) 8C4 + 8C3 = 9C4 eT6dTLIENS FIflLIMIY
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Answer: LHS = 8C4+8C3
__ 8xT7x6x5 + 8xT7x6
T 4x3x2x1 3x2x1

=704 56 = 126
RIS = 00, = 020
=126

8C4+8C3=9C4=126

79) @ 69 [BHS6V 18 65l(HHECTTTEHET SH6vHE) CIBMETS DTTEHET. (b BevorL Goemeuilsy @ LMWL, L&ESSSIME 9 G
63510 2ILTEnEUSELILIHISIDTIEET, SeuFserien GOILNLL 3 CuT @ GUIULILLUSSSSIILD, GLo eIt @)Feser(h GuiT
Gengullest LHEMT(H USSHHEVID ST N (HLLEMTTSHET eTesfl6v eTe S en60T suLlS6r 60 69l (HHHETTSHEN6IT LT

6M6UESHEVITLD?

Answer : 3 GMILISILL aﬂqgg@mr;&sm Q6 GUIUINLL L&&ESS60 A (Cl&T6La MISET) LHMILD 2 GUT LDILML B
(QlEFTELEVIMRIGET) 2 L& 63)([HLOL{6UBT6V. 6T6uTGou 6TmIS6MNLLD 13 6Sl([hbHlesTTa6T 2 6iTementiy, Siglev 13Ce suLflseriev A
&(& 621D, 7C7 euifl&erley B L&SSH DG 7 Ca e blFw&HGmmL.
2 LBBMBISEHSSTE G666 eressTenuiléenss 13Ce x 7C; @UIGLITE| CLoenguilesT geuGleum(h L& SEauID 2 6iTer 9
BLITEED6TT SHhidEThEG6IT 9! 60 HENLOESHEVTLD eULl&6iT
Qrss goum(bserfler sresoressilsena
=13Cs X 7C7 x 9! x 9!
= 22 %9l x 9l

80) (1, LuGamestTLD 44 eLpensy el L MigSsmeTLl QUMM (LN LILIVCEHTeTTS H60T LIS MG 6T6tT 6TetoT6rnf1 8608 6m LI
&evoT(hlL9l1g.?

Answer : N 6T60TLIG 6ULD&SLOMEST LISV TeuTES &) 68T L1885 M8 6Tfl 60T 6T6n0T600f18:6m86m WIS (8,1 &:860MLD
eLpem VeIl LI g6ifl6tT eTesoTennllSH6mas = 44
n(n—3)
s— = 44
n?—3n—-88=0
(n—11)(n+8) =0
n=11
81) FHmILILS CammEemsLs LweaTuhSH (101)° —6tr eNifley sresorss.
Answer: (101)%= (100 + 1)°
= (100)° + 5C4 (100)* + 5C, (100)2 + 5C5 (100)? + 5C,4 (100) + 5C5
= 10000000000+ 5(100000000) + 10(1000000) + 10(10000) + 5(100) + 1

=10000000000 + 500000000 + 10000000 + 100000 + 500 + 1
=10510100501

82) (x-2y)'® erestLIG 6T 6NifleN6V 561 2 MILIEDLIS &TEEsTs.

Answer: (x—-2y)'®
Trir1 =nCrz™ "a
n=13,r=4
tr41 = 13Crm13”(—2y)’"
ts = 13Cyz'34(— 2y)

_ 13x12x11x10 9
- 4><3><2><1 (16)

= 114402%y*
83) gipsmevoLeuphmet eNflefNev x - ;& FMTTE e mIlIenLs Hretors: (22 + 1)12

r

Answer: (2x2 + %)12
t,y1 =nC,x™ " ar

= 12C,(22%)* " (3)’
— 120 212 r 24 2r (F)

— 120r212 r 24 2r o r

— 120121277'1:24737‘

;;ras?:u_l 5(;I'I’UI'I’§_5 2 mIlIenLIE STeseT X —65T 3i(hH&emss 0’ aNm (& FweTU(hSs
- r:

Jr=24=r=28

tyq = 120521278

— 4 _ 12x11x10x9

=7920

84) @b B& (LW Yeier, (2,1) ommid (1,2) eT6sTm LieTerfs6leS (hib&) 2 66l ClgTensvey a6 2:1 6T6sTm 65155 S160
B\(H& &M HSHEMGSH6fl6v, LiL|6TerfluN 6T @)UWIMki(GeUenTen LIS &TetoTs.

Answer : 3x2+3y2-4x-14y+15=0
85) 3x+4y=13;2x-7y=-1 LoMM|LD ax-y-14=0 eTesTLIETT 6@(h Li6iTerfl euLfls Cam(hl &6 6Tevfl6v ‘a' 65T LDFIL|E &Tetors
Answer: a=5

86) 2x2+5xy+3y%+6x+7y+4=0 eT6tTLIG| @ TL6mL CHISHCHT(HSHMETE MG 616518 ST (H&.Cay b @&CHTH S EmSH®E,
@enLLILl L CaHTEwTLD &T6t0TS.
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Answer: GQam(HSSLLLL FwesTUm(h

2x2+5xy+3y2+6x+7y+4=0 )& 60687

ax?+2hxy+by?+2gx+2fy+x=0 2_L 65T UILN[HIELITE)

a=2b=3,h = 5 5 9=3, f-z LmMILD c= 4

@rlenL (Efr_r;r}as(EasrrLng)asrrm sLHLuT@H

abc+2fgh-af2-bg2-ch? =

abc+2fgh-af?bg?ch?= 24+ 105 — 2 .97.95 0

L ERTRAE: Y (\::F: N[ &msururr@ @ rlenL GEU&B(B&BI‘I’@E’:G&G‘ITBS &M1& G0
@rLenL CrICasT(HsEms®E, @Gml_uul_l_ GamewoTLd '0' 6T60TS

~0=tan’ (—)

2 -6
] = tan~! |: ; ]
5

87) ax%+2hxy+by2=0eresTn) @rLemL CrisCambHserfletr spettmest Fmilley MHME 6T FmilemeuliGLITey @Tessr(h) LOL ki, eTesf6v
8h?=9ab eTesT (FlmI61|5.

h*—ab
a+b

8=tan 1 [

1

Answer: mq,m; 6T6dTLIGHT

ax2+2hxy+by?=0 eretT @ T 6L G178 EEHT(H &M 6T FMiiey &6l 6T60TS.
L mptmg = — 2L OMID MMy = ¢
SHETOTEH6BTLILg. My = 2m)

. 2h . . a
. mq+2m, =—T LbMM|LD mq 2mq = 0

m-|=—2—hLD'ng)_|LD 2m12=%
2 a
:'2( Sb) =%
8h' _ a
T T b
- 8h?=9ab

88) a, b serf16iT 6TIDLOEIILIS ETHE S (a-2)x>+by>+(b-2)xy+4x+4y-1 = 0 6TEQILD FLOGTUM() QULL SENSE GM&GLD? Ul L &H6bT
FLOGITLITL6ML LD 6T(LDSIS.

Answer: QaT[H&BSUILLL FweTUm{H (a-2)x>+by?+(b-2)xy+4x+4y-1 =0
SL(HIUUMLLg6dTLILY,
(I)XyGO'FQBSQ._Q 0-b-2=0
.b=2
(u)xzaeras@ =y 65T Q&L - a-2=b
a2:=25 a=4
eT6eTG6u 6ULL SHE6IT FLoSTLIM(H) 2x2+2y>+4x+4y-1 =0

89) x*+y>-6x+4y-12 eT6dTm 6ULLLD (7,-5) 163t L6iTerfl ouifle Qlgsugyid erasrésmi (b Gogwitd @UiLjeer] suifle Glaevgyid
9L LG 68T LOM)|(LPEDEBTEN LIS> S5 ITEBITE.

Answer: A(7,-5) 6T60T8.
eUL LGS\ 6T &FLo6sTLIM () X2+y2-6x+4y-12
(7,5) 23 il
X2+y2-6x+4y-12 = 72+(-5)2-6(7)+4(-5)-12
= 49+25-42-20-12 =0
- (7,-5) 6018 GULl_g,@asr Gy SienE MG
@rfu@ g =-3 HmIbd f =
. 6mLOWILD =C(3,-2)
mﬂl'_l_'a_'s@eirr Lom|(LpemesT B(X,y) eTetTss.

. . -5
AB 65T E®LDWILD = (1;7 , yT) =C(3,2)
47 _ y—5 _
— 3 5 =2
X+7 =6 y-5=-4
x=1 y=1

- L L& HledT mIpenest (=1, 1) QG LD
90) LN6BTEU(THLD 6ULLTIGETT 63T 6MLOWISHENSWILD S TSHENSBU|LD SHT6TT8: X2+y>-22x-4y+25 =0
Answer: C(11,2) ,r=10
91) 3x+4y-k =0 er6sT) G&HMLTEETG| X2+y2-64= 0 6T65TD 6ULLEH D (& O BTHCEHT(H 6165160 K 60T LOHLIL| HT6vETS.

Answer : G\asrr@asasum.@mm&wmurr 8561'I'X2+y2 64 =0 MMILb 3x+4y-k =0
Qg,rr@@asrrl_rrmg,gpge_r)rﬂu_l sLHUUT® c?= a%(1+m?)

@i a®=64,m="1> 1
c?=a%(1+m?) 5 E =64 (1+ 1_6)
k?=64 x 25

k=+40

92) 3x+4y-P =0 et6ttm) C&m(h) X2+y2=16 6T65TM UL LSS DS (1 C1STHICHT(H 6Tesflev P ul6st o)LL 8 &Tevorss.
Answer: P =1+20

93) x LoM&MIG6I6V FFLLLILILL @6VrLILD e y(<y,uNrmigerflev) eT6tTss. GLogILD y=-x2+10x-15 eTevl6v, QlFWISHI L G0,
Wipliugmnarer Wlesg FDhe SHTeVsensHs STesoTs

Answer: X=5 LDITQ')ré.IBEGiT
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94) sin 600° cos 390° + cos 4807 sin 150° = —1 eresr Him6y5

J

Answer : gin 600° = sin (360° + 240°) = sin 240° = sin (180° + 60°) = —sin60° = —

cos 390° = cos (360° + 30°) = cos 30° = ?

cos 480° = cos (360° + 120°) = cos 120° = cos (180° — 60°) = — cos60° = —3

sin 150° = sin (180° — 30°) = sin 30° =

@uiiGumg) sin 600° cos 390° + cos 480° sin 150°

_ V3 (3 1y (1) _ _3 _ 1 _ —3-1 _

- (-9)($) @G =-i-1=F =

95)  sin (—6) tan (900—9) sec (1800—9)

sin (1800+0) cot (3600—6’) csc (900—0)

= 1 erevT Him1615.

sin (—6) tan (90°—9) sec (180°—-6)
sin (180°+6) cot (360°—6) csc (90°—0)
__ (—sin#) cot (—sec)
" (—sinf)(—coth)sechd

Answer: LHS =

96) £1p& 8 600TL6LMED
tan% 225°) cot ( 405%‘-I tan (—765°) cot (675°) =0

Answer :
97) A, B, C, D eT6bTLI6HT 6ULL BT &TESH6T G messthigs 6 eresilev cos A + cos B + cos C' + cos D = Osterr Himieys
Answer :
98) cos 510° cos 330° + sin 390° cos 120° = — ererr Himieys
Answer :

99) cos 20° cos 40° cos60° cos80° = - eTedT HlMI6YS

Answer:
100) _ . sin (A-‘rB) m+1
tan A = m tan B eresflev, — B — m-1 o Bmi6y &
Answer: tan A = m tan B erest Qam(plésliul LUl (Hlererg)
sin A __ sin B
cosﬁl — ""YcosB
sin Acos B __
cos AsinB m

Fal L6V LoMMILD aa%ﬁg)g)su g g aNdlenwl LwsTUHIGSE BT Clumisug)
sin A cos B+cos A sin b.

sin Acos B—cos Asin B m-1 5O

sin (A+B) _ m41

(A B) — m-1 oo @stuuueuuuu_gj

101) pmieyatan (1) +tan ™' (55) = tan ' (%)

1
+13
1\(L
7 13

1—

=

Answer: tan ! (%) + tan~! (%) = tan~! [

—

_ 1 (2

= tan 1(@)

= tan (5)

_ 1 4 : o
102) tan A = 1 and tan B = 3 etesflev cos 24 = sin 4B eterr Hmies.
.  ftan®A . % 48 49 24

Answer : COS2A m = 1+_ = E X % = % ....... (1)
@uGurg) sin4B = 2sin 2B cos 2B

— 2tan B % 1—tan’ B — 24 (2)

1+‘can2 B 1+tan? B 25 e
(1) LHmID (2) eSB!,

cos 2A = sin 4B erest flevL&as06LLCUNIH M)
103) fimje&:cos (g) +tan~! (%) =tan~ (%)

Answer: cos ! (%) =0 cosd= % = sinf = %
c.tanf = § = 0= tan_l(%)

o5 (4) = tan = (3)

@u@un@@ cos” ( ) + tan~ (%)

=tan ! = ( )—l—tan’l(g)
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104) tan o = + wpmib tan § = 1 arexflev, (2 + B) = I erer Himieys.

2x 1
tan 2o = 122% _ 1_; _ %
9
s Tz .
tan (20 + f) = —3 - = & =l =tan]
=3x3 %
2a0+ B = Z
109) tan~! (1) + tan* (%) = tan”! (3) o Py
Answer :

106) tan(x +y) = 42 LoMHMILD x = tan~"(2) eTevfl6v, y 63T LOHIEDLIS &HTETETs.

Answer: tan (x+y) =42

x+y =tan’ (42)

tan™(2) = tan™(42)

y=tan(42) - tan'(2)

—1[_42-2
1+(42x2)

s —1 (40

=tan”" (55)

y=tan! [ 8 ]

b
107)

=tan

sin20° sin40° sin80° =~ 6T6aT [H1M)I6L|85.

Answer : LHS =sin20° sin40° sin80°
LHS = sin20° [sin260%-sin%20°]
2 o
—sm20°[— — 5in%20°] = szn20°[%
- 3s5in2n0° —4sin?20°
4
_sin60" __ V3/2 o ﬂ
T4 T 14 — 78
108) 2 tan 80° = tan 85° — tan 5° erevr (Himi6ys.

Answer:

109) sin20° sind0° sin60° sin80° = == ereur HImi6yss.
Answer : LHS = sin20° sin40° sin60° sin80°
= sin 60° sin 20° sin(60° - 20°)sin(60° + 20°)

= ? sin 20° (sinZ260° - sinZ 20°)

=§sin 20° (3 - sin? 20°)

() (§)sine0=()(5)F) = & = RHS

10) f () = & + Leresflep [f (z)]° f(wg) +3f () erer Hlmieys.
Answer : f( ) =z+ f($3) a:_lgaf(%) = f(x)
@u(‘&ur@] LHS {EN

= [x-i— }

=2+ L +3(z+ ;)

= £(a%) +3f (@) =L (@*) + 37 (3)

= RHS
) f(2) = 25 aefled f [f (2)] = — eer Hlieyss
Answer: f(x) = %(Q&.n@és&.uul'_l_@)

z—1
_ f@-1 !
f[f (iL‘)] - f(a:)+1 - z_:Jrl
_ z—1—a—1 __ 2 1

— z—1fz+1 — 2z T

12 f(z) = 2* — % etefled f () + f (3) = 0 o018 &1L R\s5.

Answer:
113) f (2) = x“ eres16v, f(f(x))=x eTesT HlmI6y &

Answer:

114) |z—3|
f(x)= { =2Laa ?;’ ETERILD ETTLIEE X = 3 @6V @)L &60& LOMMILD UEVEENS 6TEVER6V LDSILIL|SSHEN6T & T3S
) T =
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Answer : L[f (m)]z:3 = xlirgi‘f(m)
zglimf(3—h),m:3—h

=lim-1 =-1
h—0

RIf @).-s = lim f (@)
= lim (3 + h)

4. |(3+h)=3]
= L G

= lim— A
h—0
=liml =1
h—0
115) % %
LHUNH&:lim ™

1
T—a 25 —a%

Answer: [imZ
1
T—a 5

— 3(a ) T 343

6) H N [H& lzm sinds

0 sindz

3rx sin3z
Answer: lim sindz =lim {731}

70 SINdT z—0 | 5xx —815"51
T

sin3z

lim =%
3 z—0 3T

5 lim 25z sinbz

z—0 °F
_ 3,1y _ 3
=5(1) =3
2
") prna@es: lim =
T—00

n? . n(n+1)(2n+1
Answer: lim 20 = lim #
P z—00 6n

= tim {3 (52) (52))
~ L {(1+ 1) 2+ 3))

1
=5(1)(2)
1
3
118) . oo T2
m@uﬁ]@aa.lzzlr% ,
Answer: 1—30
119) 2z+5
SN Hs: lzm Z 3059
Answer: 0
120) Sn
oo ™
Answer : %
1217) % %
wH NG lim
T—a ;7015
Answer: }—2(1 24

P2
122) mgmm@aa:lim—s“;f’””
z—0

www.CBSEtips.in
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Answer: 9

9 9
128) lim, = 242 — lim (z + 6)aresflev a ufleir L& LIEOLI &TEToTE.
z—a z+a z—3

Answer: a=t%1

124) lirr2L = Z;fgn = 448 ereflev, n-6t1 LBFFIM)| LOl6MIS (L (LD 6TELITEMETIT &5 TEBOTES
T—

Answer: n=7

125) £ (z) = pe 13228 eTeuflev, lsz( ) & BIT6uTS.

.28
Answer: 5

z—2

126) lim = ‘f—ﬁ’ lsz( ) = 2 wHmID lingf (z) = 1eeshev f (—2) = 0 ereor Hmiey .
T—

Answer : f (72) =0
127) g ememos QamsreansuNed kbl — (2°) e srevms

Answer : f(xg = x3 eT60T8.
f(x+h)=(x+h) et h) )

. flz+h)—f(z
L(f (@) = lim "I
— lim (z+3)°—z?

hso R
— lim 322h+3zh’+h3
h—0
= lim (32 + 3zh + h*)
h—0
—3x2+3x(0)+(0)2
=3x2
i( ) = 322

dz
128) g eimemios QamaTeansuNedmHE! - (€°7) 6T auenssEE s Sets.

Answer : f(x) = e er6vflv
f(x + h) = e3* oy & 1.

(/@) = lim {250

dz h—0

l :c+h) &3
- heO h
— lim 37 g3h_ g3z

h—0
_ lim ei}z (e3h71)

R0 P
— 3e3x lim& -1

h—0
=3’ x 1 o limEt =1
z—0

_363X

12;3) L9etTeU(HLD FIMTLIE(ETHES) (PSH6TTEnE ClameTensuled)(Hba euemad Cl& (LD &mesoTs.
X

Answer : 2X
130) |1 a a?—bc

1 b b — caléT LHIY &S

1 ¢ 2—ab
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Answer:

1
1
1
a
b
c

—b
c

www.Padasalai.Net
a a®—be
b b —ca
c c2—ab
a? 1 a be
| —|1 b cal.()

c? 1 ¢ ab

(a—Db)(a+b)

www.CBSEtips.in

0 a
=0 b— (b—e)(b+e) _
1 c 2

mmID C @6t HllienLl (1) @6 LTMHMeYLD,
a

bc b+c
ca c+a| =0 eer BiMi6ys.
ab a-+b

Al o~ 2|k

Answer: @I 5| 608 LISHEHMS (LHS) eT(h 55185 68 T6iT(sTHMEISH 6T
bc b+c

ca c+a

ab a+b

a 96v, R2 39 b o460, R3 23 (WwemmGW GILIHS &), abe L6L 6U(EGEHSHE DS,
1 abc ab+ac

=111 abec bc+ab|=0

abc
1 abc ac+be
LSH = RHS &g &L,
bc b+ec

agﬁh—t ai|= Q|-

R1

ca c+a|=0

ab a+b

—_—
w
N o= o= o=

—a? ab ac
ab b be | = 4a’b’cerer Himieys.
ac be —c

—a ab ac
Answer: LHS=| ab —b? be
ac be —c?

R1 g0 a 946V, R2 &0 b 916v, R3 &3 (emm G Gl &), abe o6 6u(@EEHMmE),
-a b ¢
LHS=abc| a —b ¢
a b —c
-1 1 1
LHS=a?b?c?| 1 -1 .1
1 1. -1
Ry - Ry + Ri,R; — R; + Ry
0 0 2
=a’?cA |1 -1 1
1 1 -1
= a?b?c*[—1(0 — 4)] = 4a®b*c?
=RHS.

133 2 3
) A= [ 1 2] 61651160 AZ-kA+1,=0 6T60TM FLo6STUIML 6B Flemmey GlFWIw|d k 60T LDE)LIemLIS SiTesorss. GLoe|b A &Teveres
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Answer: A = 2 3
1 2

A2=A A
{2 3} [2 3]
1 2][1 2
[7 12]
4 7
&y6y A2-kA+l,=0
[7 12] [2 3] [1 0] [O O]
= —k + =
4 7 1 2 0 1 0 0
[7—2k+1 12—3k+0]_[0 0]

4—k+0 7T-2k+1 0 0
[8—% 12—3k]_[0 0]

4 —k 8 — 2k 0 0
=4—-k=0
=k=4
2 3
Ar=]1 2]
=4-3=120

AT emWS STEsT@)WIE|LD.
adj A= [ 2 3}
-1 2

AT = TradjA

SN

134) Cryorm| 6wl Wwemmuilev Hysss : 3x-2y+3z=8; 2x+y-z=1; 4x-3y+2z=4

www.CBSEtips.in
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3 -2 3 x
Answer: 5iJ6 = 2 1 -1 Yyl = 1
4 -3 2 z
©\gement AX = B 6T6sTM)| 6T(LDSEVMTLD
X=A"B
3 -2 3 T 8
@rgA=|(2 1 —-1|,X=|y|wvomwB= |1
4 -3 2 z 4
3 -2 3
[Al=12 1 -1
4 -3 2
=-1720

A7 emwg & TeseT@WIEyLD.
A11 =-1 A12 =-8 A-|3= -10
A1 =-5A0n=-6A3=1
A31=-TA32=9A33=7

-1 -8 -10
Al =|-5 —6 1
-1 9 7
adj A = [Aij]T
-1 -5 -1
-8 —6 9
-10 1 7
1= L adj
A |A‘a_d]A ]
-1 -5 -1
__ 1
=—77| -8 -6 9
| —10 1 7
X=A"B )
-1 -5 1|8
1
=—7| -8 -6 9 1
| —10 1 7114
[—17 1
__1 _
=—13 -3 =12
—51 3
T 1
yl| =12
z 3

x=1,y=2wMHMIDZ=3.

135 —
) IfA= [i i] ,B= [(1) 21 ] ereofley,(AB) =B 1A erevtes ML (D&
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1 2
1 1
AT emws SITEsTE)WIEVILD.

0 -1
B ‘1 2‘ y

Answer:g)UGq|A|—‘ ‘—1—2——17&0

Bemwi8s Smesor@UIsV|LD.
AB:[l 2} [0 —1]:[2 3]
1 1][1 2 11
AB—[Z 3}
11
=120
ABT emWis SITeveT@)WIGVILD.
1 -3
dj(AB) =
adj(AB) [_1 2]

(AB) ! = ﬁadj(AB)

a1 -3
Tl 1 2

)

1 -2
djA =
o [—1 1]
-1 1 .
A *|A\a'dJA

1

N P
(1) wHmIb (2) eGB! (AB)'=BA"T gu@1b

136) GrwLrmI Hewll(WpemmuNey Siss (X —y+2z=3;2x+z=1;3x+2y+z=4.
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Answer: x-y+2z= 32x+z=1 and 3x + 2y +z = 4.
1 -1 2 3
2 0 1 =11
3 2 1 4
AX:B:>X AlB
grG
1 -1
A=12 0 1],X=1y
3 2 1 z
3
B=1|1
4
Al =1(0—-2)+1(2—-3)+2(4—0)

=-2-14+8=5#0
AT WIS SITEBT @) WISV LD.

-2 1 4
=5 -5 -5
-1 3 2
-2 5 -1
Al = lA‘ad_]A 1 -5 3
4 -5 2
X=A"B )
-2 5 -1173 —6+5—4 -5 -1
=+|l1 -5 3 ||1|=%|3-5+12|=1]|10|=]2
[ 4 -5 2 ][4 12-5+8 15 3
T -1
) (3
z 3
r=-1,y=22=3

137) 4 £1Geur Gleurugmid,3 £Geur Gamgemio MM 2 HGeum SiflFuflert GCloms s eNemev ¢5320,2 LGV GleumkISTWID
A &Ceor Camglento,b & Geum oyifl&Fuilest ang%g, elemev£m,560, 6 HGeuT Gleumis WD, 2&1Cevr G g IemLd, LMHMILD

3 &lGourr Nl Flufetr Glms s aflemev e 380 eTestley, GHITLLTMI Sewsfl (Wemmuiey ¢o(m HlGsvmallmamest GlLIM(peTa 66t
edlemevemLI &T6ToTS.
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Answer : (M HlGeur Gleurtigmuwib, CamglenLo, i flFuile Gl e ellemsvasT (PeMMGLIL Xy ,Z 6T6bTS.
4x + 3y +2z =320
2x + 4y + 6z = 560
6x + 2y + 3z = 380

&65)60T
4 3 2| |z 320
2 4 6 y | = | 560 | erevr eT(LpSHEVMLD.
6 2 3 z 380
AX=B
4 3 2 x 320
@ug A=12 4 6|,X=|y|wombB=|560
6 2 3 z 380
4 3 2
|A|=12 4 6[=5020
6 2 3

A7 WS SITEBT@WIEY|LD.
A11=0A12=30A3=-20
A21 =—5A22=0A23=10
A31 =10 A32= -20 A33= 10
0 30 —20
Agl=] =5 0 10
10 —-20 10
adj A= [A“]T
0 5 —10
=1 30 0 —-20
—-20 10 10
-1 _ 1 .
A = A adjA ]
0 -5 10
=L =13 0 -20
—20 10 10 |

0 -5 10 320
=55 = | 30 0 —201 560
—20 10 10 | [380

0 -5 10 [32
=£=13 0 -20|]56
| —20 10 10 | [38
0 —280 +380 100
=+=1960 0 -760|=1 = {200
—640 +560 +380 300
T 20
y =140 ] x=20,y=40,z=60
z 60

(| H G QeumismwgSleir allensy =em20.
@ HlGeur GCarglenullsit allemev =em 40
(| HGeur oyflFlullssr aflemesv =em 60

-4 11 -5

139 137 B BB
A=14 2 3|wHpmibB= ;—51 g—g % 6T6dTD 26501 &6TT epedTMISGl&metTm GBHITLOMM) 6T6TTE ST (H&.

1 21 6 1 -10

35 35 35

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in
—4 11 —5
1 3 7 3 3/ 35
answer: AB= (4 2 3| |32 2 2

1 21 6 1 =10
3 35 35

13 7 —4 11 -5
— 1

=14 2 3| L[-1 -6 25
12 1 6 1 —10
(35 0 0

1

==|0 35 0
L0 0 35
(10 0

__ 35

=510 10

[0 0 1

100
=l0 1 0|=1I

00 1

AB=BA=1I
SLEMSBWITEL A LoMMILD B i65fl 56T 6etTM 18561 &metTm| GBHITLOMM)| 4(&HLD.

139) Criwrm| Sieoflpenmuiley Hiss :2x —z=0;5x+y=4;y+3z=5

Answer: 2x-z=0,5x+y=4andy+3z=5

2 0 -1 x
5 1 0 yl =14
01 3 z i
= AX =B _
2 0 -1 T
@regA= |5 1 0 =:| y| andB=
01 3 z

\A|—2(3 0)-0-1(5-0)=6- 5=1#0
. AT emws & meseT@ Wiey)Lb.

3 -15 5
=|l-1 6 -2
1 -5 2
3 -1 1
Al = IA‘adyA -15 6 -5
5 -2 2
3 -1 1 0
- X=A'B=|-15 6 -5||4
5 -2 2 5
T 0—4+5 1
yl=10+24—25|=1|-1
2 0—8+10 2

z=1y=-1,z=2

140) epesTm)] 6T6BOTEETT60T &or(h1&6V 20. (LPS6V ETEBITERETIT 2 4,60 GILI[HEES), Q) TETITLIT6LS| 6T6BUTEN6TITE FarlL Ly, ELPETTDITEL
ETETTER 68018 &8585, HEnL &G LD SILIL| 23 G GLD. (PSH6V ETEEETENEHIT CLPETTITEV GlLI([HEE) 6U(HLD LOGILIL|L 60T @) T6veT
LOMMILD ELPETMITLD ETETOTEHEMETE FaL L &HlenL&(GLD Lo&ILIL| 46 6Tenfl6b b eTevoTSHem6I GHITLOMM| 650l (Penmuiley STesorss.
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Answer: x+y+z=20

2x+y-z=23
3xty+z =46
11 1 T 20
2 1 1| |y| =123
3 1 1 z 46
= AX=B=X=A"B
11 1 T 20
A=|2 1 -1|,X=|y|,B=123
31 1 z 46
=1(1+1)-1(2+3)+1(2-3)
=2-5-1=2-6=-440
AT WS SITEsHT@)WIsY]LD.
2 -5 -1
0 -2
2 0 -2
AT = ‘A‘ade—— -5 -2 3
-1 2 -1

2 0 -277[20
X=A"B=}|5 -2 3|23
-1 2 -1][46

x 40+0—92 -5
=ly|,=F|-100-46+138| =3 | -8
z —20 + 46 — 46 —20
13
X=12
5
r=13,y=2,2=5
4 2 1
14 2 2 1 5 5 7%
=11 3 1|wpmbB= —% % —% 6T60TD 67011861 6p6TMI &GS MetTM)| GHITLOMMI Y, (SLD 6T60TE
1 2 2 -1 _2 4
. 5 5 5
STL(H S
4 =2 _1
2 1 5 5 5
Answer: AB= | 1 1 _% % _%
1 2] | -1
5
4

2 2 1
_ 1
=111 3 1
1 2 2
8-2-1 —4+6=2 -2-2+4
=+[4-3-1 —249-2 -1-3+4
4-2-2 22+6-4 —-1-2+8
50 0 100
=110 5 0|=|0 1 0|=1
00 5 0 0 1
4 -2 -1\ /2 2 1
BA=1|-1 3 -1||1 3 1
-1 -2 4 1 2 2
8-2-1 8-6-2 4-2-
=+ —2+3-1 —2+9-2 —1+3—2
—2-2+4 -2-6+8 -1-2+38
50 0 100
=:lo 5 0|=]0 1 0])=1I
00 5 00 1
AB=BA=1I

.. AOMmID B etTM1856\&MetTM) CHITLOMM| (8D
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142)14: 3.7 wmmib B = 6 8 eresfley, (AB) =B A stetTLIEn S FALITTSS
2 5 D 7 9 ) =3 78:8.

A A 3.7 LwmmJw B 6 8
nswer: = =

9 3| P 79
_[18+49 24+63]_[67 87]

12+ 35 16 +45 47 61
61 87 -1
|AB| = = 4087 — 4089 = —2 # 0(AB)
47 67
61 —87
= (4B)! |AB‘adj(AB) 5 [ a7 67]
IB| =54 —56=—-2+#0
. B—l
9 -8
- __1
B! \B|adJB 2[_7 6]
|Al=15-14=1+#£0
5 5 =7
1_ 1
A |A‘ad]A ol ] [_2 3]
et =25 FlS Y
2 1-7 6 -2 3
[ 45+16 63— 24
2| -35-12 49 +18

1 [ 61 —87]
o P41 67
(AB)1=BTAT.
1432;?@ QUITBETTSITT SeMLOLILII6V Py LOHMILD P, 6T63TD @)1 CIS MM EFMemeV&s6IT 2-6TT6IT6sT. Si6uMMl6esT GCgHemeu MHMILD

U hleveuybd (eruiml Casimig&erflev) SLpeu(hLd SHLLeUsmesoTuiley Q& m(H&&LILSSLILIL(H6Temg).
a‘mug,g;ﬂmnmu&u@mn@u@unu?@@g@mngg,

Bifley Lifley Semeu 2 MHUSH
P; P,

P, 10 25 15 50

P, 20 30 10 60

P, 6ot @mIH & Caemeuwimestg) 358 &L P, 65T @mIHs Caemeu 42 &G mmIbCLITE| 2 MHLISHHem6TE &etorsH) (H .

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

Answer: a;1=10a712=25%x7 =50
az1 =20 a2 =30x, =60
10 _

by = 2 10 1g o2 25 5
U=% — 15~ 57127 % —% 12
oy = 222 =20 _ 24 92 _ 30 _ 1
21— g 50 52 T Tz, 60 2
1 5
3 . _| 5 12
QamiflevmILL o6vafl, B= 2 1
L
(105 12
8= 0 112 1
5 2
4 _5
— 5 12 0 . . . .
_[ . :|,@566T66)LOQI,DG&GUG)E]LL&@JUL]BSGTLIS]SG)&UJITBS&&T&T@].
5 2
4 _5
5 12
“B|=[ 2 1 }
5 2
=T 50

0

(1-B) %6&' (WPSH65TEMLD eLpemevell L 2 MILILI&6IT Wlenasw s 2 6T6mg). GV || - Bl Wb WensWITe: 2 6TeTg).
M 686N — eMEFLO6ST @) (I HILIHENSHEM 60T EHLD Hlenmey Gle Wi FWwiILIL (heTeres. srearGeu GILIM(HETTE Ty
SLLeMWLIL GlFWLLI(HID aUmSBUN6D 2 _6iT6ITG)].

5
adj(I-B)= [ " ]
5

(+8)"= - 5radj(I — B)

(Il = B|20, eTetTLIB M6V (I — B) ! SHlemL&&L16LMID)

= —Ladj(-B)
25
Y
o7

&yey = X = (1-B)"'D, @i, D= [35]

42
_ B3 {35}[150]
7 % % 42 204
P, 68T 2 MU H) €150 CamigILITEaLD, Py 6T 2 MHLISSH) e 204 GaTig WITSHE LD @) (H&8 Geussr(HLd.

144) e(h ClUMHETTS T &L LemLLILN6 Blevs sl mmID @ HL| 2 MusSS ClFwiwliLhléleTment. @ resor(h GILIM(HL & (6THLD
e6ubleumssTmlest 2 MUSHUN6L @lemL 2 6iTeiflma LiwetTU(HISIMSI. 62(F L6iT @ (HLOL| 2 MHLSSHEE, 0.4 LesT @\ (HLbL| LoHm)LD
0.7 LetT [Hlev& 51fl CaemeuliLihlEImg]. @sueumGm e L6t Hlevasifl 2 mLg S s E 0.1 LetT @) (HLbL wmmIb 0.6 LetT hleussif]
GCoemeuliLBEME. 6THS (1 266t (h epeuseT(pd CHemeuliLiLaNsveney. @nHg Senlil blFwevL(Hib Hlemevuiley
2 6IT6HTE [BhIG6T &(HGISMTEH6TT? @%5 L6dT @)\(HLDL] LommItD @S? LetT Blevsasifl 2 mus S ClFwliwng CoHemeuliLi(hb
Geuemev BITL&SIT (PG 5 MMILD 2. CILM(HETTST &LLenLLI6Y 100 LebT Hlevsasifliyd 50 L6t @)(HULLWD 2 Mg
Qewiw CeuessT(HILD 6T6sfl6b LTSS 2 MHLIGSE) GlFILg CHemeulILfHID Q& TevmeTy BTl aefl6iT eTevoTens856m 56 WIS
SHITETOTS.

[N

e fgfen

SN
[N
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Answer:

@y Hevssfi@misH Caoeneu

@ moy 0.4 0.1 50
BHlev& s 0.7 0.6 100
Q& TLYl6LITETTT [HITL&6ITS 2 -
Q oL osfl B 0.4 0.1
AIPADBIC 0.7 0.6
I_B_[l 0]_[0.4 0.1]_[0.6 —0.1]

0 1 0.7 06] [-0.7 04

‘ 0.6 —0.1*
[I-Bl=

—-0.7 04

= (0.6)(0.4)~(~0.7)(~0.1)
=0.24-0.07=0.17

www.CBSEtips.in

BUDITE &) 60T610-65 L0665 @)(1h [BILIHSH 606578 (ETHLD [hlem M6y GlFWIWILILIL (Bl6TT6TE). eresTGou @b ClLIMHeTTSTTE

SLLenWLIL G FWevLI(HD 6uem&sUI6v 2 6T6ma).
4i(1B) 04 0.1
a - =
’ Lo.7 05
(I-B)1= = B\ adj(I-B)

. [04 01]
17107 0.6

50
= (1-B)™? 2 =
X =(1-B)~'D, @i D [100]

=L[0.4 0.1][50]
01710.7 0.6]|100
4 [30
017 | 95

[176.5]
558.8
g@mq Qleueflui(p) = 176.5 Letrassim
6v&5Ifl Gleusflui(h) = 558.8 LetTaH6T
Qrgg Gigmplevmerigerle Geuenev BITLgeir
=5(@\ (B Gleusflui®) + 2(Hlevssifl Gleusflui(H)
= 5(176.5) + 2(558.8)
=882.5+1117.6 =2000.1
=2000 Q& TP 6VMETT BITLE6T.

145) @\ Q&THHFTERVS EHES LG 2 6Ter 2 HLIGH LiflmmHmd G C&m(HsasLILSSILL(H6TETS].

2 HusH ﬁllﬂqu@asr,rC?mrrU Nifle2_emmIL(h) Caemaubliomss Gleusfluih)

X 30 40 50 120

20 10 30 60

60 [ILLI Siessilemit &66oT (hL1198:8 LDHMILD AUDITE 6T 6MELO6T HILIHSHENETSH6T6TLIY SienLLISles &
(S&rr 886D, 2 6T GHeme LMHDEISGET (WenmGW 80 LYHMILD 40 316V, 6T6vflev geeuGleum (i LKlfleNeVILD Lig)

WissH QFweugsmsames Glomss Gleuerflui(h) eretesr?
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Answer: aj1=30,a12=40,x7 =120
az = 20, 822—10 X2—60
by = 2

. Z
bia =

2

3
1

6

_120_
_ 40 _
=%
20 _
120 —
10 _ 1
60

Z1
a2
T2
az1
Zy
a?

Z

6

o= Wl ||
| |

D= =
X o= w|o
I

w o

u>|w’—‘o
—_

|
—

I-Bl=3x2
M mé: &) siTen-6n&Lo6uf)
SLLenwLILY GlFweou (b

@alHl—l

‘g

6U6M &

adj (I — B) =

|
)2

(I-B)™! =1 B‘

i

80

X=(1-B)'D @D = [40
80

gl

66. 67 +26.67
37

13.33  +30
_ [181.63
o\ 84.32

x=181.62,y = 84.32
146) @\ GUIT(RETTSHTY mlﬂaﬁggg)&.rreo‘r uifleuggemest evofl ECLp ClamhHl&aLILL (HeTerg).
TQmIFS Co

72
37

= oot
o wlro

93.34
43.33

)

WifleyeflHuen 06U CILTSS 2 MHLSH)
12

‘I 43 13 20
54 3 12

(I)
(if)

Answer:

dﬁ&)ng’ﬂw BILL Si6u0fl6n W1 610818
fley 1 &1 @mISH& CoHemneuITesTE] 23 160G 56T SH &ifl&H G0 CLITE| 2 MLISSHSHEn6TE &HITetorss.

a;1=4,a,=3,x1=20

a21=5,a22=4,x2=12
by =41 — 4 1 _1.p o _ 3 _ 1
M=% T2 2 57127 % — 12 14
byy = % — 5 —l.p 92 _ 4 _ 1
21 = 7y T 20 T 40Y22 T @ T 12 T3
1 1
. 5 4
i)B= 11
4 3 L
4 -1
1 0 7 5 1
i)] — B = -1 N 8
0 1 1 1 -1 2
483 %28153 113
4,2 _ 1 _ 8 1 —15 _
[I—B| = £ x 3 16 15 16 240 240

mrrasaﬂsurem -6 &L065f165T Q\(Ih [BILIHSH 606578 (ETHLD [Hlem M6y LlF WL (Bl6iTeTg). eresTGeu @b ClLIMheTTSTE
SLLenwLIL QFwWeL(HID euensuT 6L 2 6iTaT,

2 1
__ 240 3 4
~(I-B = B\ad] (I—B) =13 1 é]
9 14 5
K . 23 3 7 23
cowommo- 2]-[1 ]2
4 5
_ 240 15.33 4+ 0.75 _ 240 16.08
U3\ 5.75+2.4 13\ 8.15
34.15

- (17.31

34.16,17.31,
147) ep(m QamflHEFTeney 2 MHUGSHIL ulﬂmrrgjmg;@m @\ Nifley X wmHmID Y QasmhHissliul (heTerg)

2 HuUGSLI mlﬂeqjgua;nc}mrrn NifleyzsThrL(H CaHemaulnss 2 HLSH)
X 'I 5 1 0 10 35
Y 20 30 15 65

X 607 2_6MHTL(H CoHemeu 12 &G Y 6T 2 6THTL(H CaHemeu 18 &G rmIb CUTg Gl 2 MLISH) &Tevors.
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Answer: Q11 — 15, a2 — 10, 1 = 35
as = 20, agr = 30, Iro = 65

by =2 — 1 _ 3. 4 %2 _ 10 __ 2

=% —3 -7 12= %, — % — 13

hoy — 220 — 20 _ 4. 4 o _ 30 _ 6

21 = % T 35 79 22 = %, T~ 65 13
3 2
|7 13
B=l4

ToB 3 2 4 2

g |t 0|7 w|_|7T B

1o 1 4 6| a4

4 7 5 1?31 2878 1320

I - B|= 13_(ﬁ 7): o1 T 91

mr_mrras@mau -6 &L06165T @)(1h [BILIHSH 606578 (ETLD [lev M6y GlFWIWILILIL (H6T6TE). eresTGou @) ClLIMheTTSTIrE
SLLenWLIL QFWevLI(HID 6uemasuI6ev 2_6T6ma).

7 2
91 ([ 13 13
(I-B)" = radi - ):2—0<i )
7
7 84+36
_ . . 1120 e |13 12| o 13
X‘('-B)"D@I'EJ@D[ ]%[é 18 =% 48472
7 7

].8
=

42 bmmID 78

.
|

2
3
4

7

148) z+4 . . .

e B UGS LN6IT6STRISET TS LOMMH M.
Answer: LIG&enW (T Lilgsmressflserfletr ClLI(hE&mIS6ITTE 6T(LD&15
(x2- 4)(x +1)=(x-2)(x +2)(x + 1)

_ _A C .

@ 4)(z+1 =% T ey T @ ToE ()
@\ Umpid (x—2)(x+2)(x+1) Q60 GILI(HES
X+4=A(x+ 2)(x+ 1)+ B(x-2)(x+ 1)+ C(x-2)(x+2) .....(2)
X = =2 6607 (2) 60 LNFHIUIL
2+4= A(0)+ B(-4)(-1)+ C(0)
B=1
x=2 srevr (2) 60 NI
2+4= A(4)(3)+ B(0)+ C(0)
A=1
x=-1 6T66T (2) 60 NFHUNL
-1+ 4 = A(0)+ B(0)+ C(-3)(1)
C =1

z+4 _ 1 1 1
(z2—4)(z+1)  2(z—2) + 2(z+2) + (z+1)

149) 2l on |y g NeiTenriugmenas mHmis.

(z+2)*(z+3)
z+1 | B C

Answer : @12’ @) = ) + w12 + w3 (1)
(x-2)? (x + 3) 2460 @BUDEPL CLIBES
x+1=A(x-2)(x+3)+B(x+3)+ C(x- 2)? .2
X = 2 eTenT (2) 6L LNFHluIlL
2+1 = A(O)+ B(5)+ C(0)

- B=23
x=-3 6T6(YI' (2) 60 NFHUIL
—3+1= A(0)+ B(0)+ C(-3-2)2

0= z2

2 x* @\etr Qa@ésassmm gwestu(h) (2) 60 G HUMPLD FW6TLHSS

0=A+C
A=-C
- A= 2

25
A B LD[_D@JLD C etr Lo@uqassmm (1) 60 mggmm_
3

(z+2) (z+3) 25(m+2) 5(z+2)° 5(z+3)

150) mg LGS L6eTeTRIGETTS LIHMIS
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9 _ A B C (1)

Answer : @ 1)(w+2) = @ + (z+2) (x+2)2
(x T(x +2)22460 QHLDPD ClLbHES
"9=AXXx+2)2+B(Xx-T)(x+2)+C(x-1) ..(2)
x = =2 61607 (2) 60 LNFHIUIL
9 = AQQ)+ B(0)+ C(2- 1)
C

=1 et6n7 (2) 60 LNF&HIUNL
= A(3)? + B(0)+ C(0)
A -

X2 x? @6tT Q& (W& &EmeT FL6TUT(H (2) 60 @ HLMWLD FL6TLRHS
0=A+B

B=-A
~B=-1
A, B ommIid C et FLIL&EemeT (1) 60 LNFHuL

g 1,1 3

@-1)(@r2? @1 " @2) | (ar2)

151) 4 u%\%] aﬁ’&&rraﬂj&,err 2 @ev& G Iblemev SmLILITETI&6T (wicket keeper) 2 6iTemL& &l 16 a‘é]l)‘]asQ&,L efNememwim(h) eSyyaeT
GWaNeOlBEHE GemDhes 11 CuT SLmiS W HS6sL eufl 2 (heurssuubhiSngl. GmDbHag! 3 Ubgl eigeTeTiasT
LOHDID GMDHSS! (1 QeV&GBHleney srLLmery GlamesorL 11 CUT SILRISIW HFISEISEL G (Wenel aTHSemenT eulflgerie
DEDLDGHEEVTLD?

Answer: 11 eflemerwim(h) 6SyyaseT SiLRSW HiflEClsL G Wen6u SLpsaetorL auLflSeifleb i6mL& & 60mLd

() 3 ubgl eSeamemya6T, 1 @6V G bHleney STLILITETY LMHMILD 7 FeneTi aNenemwimi(h eSTFase6T L k&l &
4C3x 2Cq1 x 10C7 euLf)&61fl6v i6mL&H&H6VITLD

4C3x 2C1x 10C7 = 4C1x 2Cq x10C3

=960 6uLfl&61l60 B 6MLDESHEVITLD

(i) 3 ub&l SEFFTETI&HS6T, 2 @6V () Hlemev &TLILITETIE6T LMMILD 6 sFemestw eSlememwiml (bl 65FF&6IT LRSI W (& (LD
4C1>< 202X1006

4C1x 2C2 x10Cq = 4C1 x 2C2 x10C4

= 840 suLfl&61fl60 6MLDESHEVITLD

(iii) 4 U g S&FFmeTISH6T, 1 @6V8 G Hlenev STLILITETY LMHMILD 6 FenesTi aflenemwmi(h) eIFraeT LMl & 4C4
201 X 1OC6

4C4 x 2Cq x 10C4 = 420 6uLf) 561160 {6MLDESHEVITLD

(iv) 4 ub g eSFFTETI&HS6T, 2 @6V G Blenev STLILITET LMHMILD 5 gFenesti aflenemwim(h eSFFase6T kISl &L
4Cy x 2Cy x 10C5

4C4 x 2Cy x 10Cs5 = 252 6uLfl&6rfl6v iemLDES&H6VITLD.

Fal Le0\6iT 6T6v0Tan0)| 560 G &MeTenssLiLIlg, Hfl&0ls L (& (pened Hem& G 6Imeg suLflserflsr

sTevoT6sOl 18608 = 960+840+420+ 252

= 2472 6u|f)s6T.

152) 15 Guj SiLsW Slfl&6ls L aflenemwiml (b efyesT G eeilsy @(hbg 11 CUT SHLBISIW & Wen6u SLD8S68uTLeumn)
155 ement 6uLfl&erflev G 6y Glewiwevmd?
i) efrseTensT Ga e ClFwsublev 6hg 6515 HILHSEm6nTa EThLD G)eveney
i) @ GMILINLL 6S7F TIGLIMWSID (8 (WeNl6L @)L LD GlLmeurTy
iii) @(m GMILNLL 67T eTICILITLSID (56N 60 @)L D ClLIMLDTL LT

Answer: (i) 15 @60 11 eipraenens CaIHOSHILILSMETET suLfSerflsiT eTevoressf|&em8 15C11 = 15C4

- 15:1§><;3>;12 = 1365
XoX2X
(i) @ GOWNILL 6T erliGUTgb CaHFHOISHGSULLLTEY, g s 14 afyraetey 10 eiyraemens CaImHolsbH\&s

GouessT(HILD 6uLf) S6Tf 68T 6TevsTErsl | HEmE = 14C10 = 14C,

4x3x2x1
(iif) @&g @B]ul_‘m_l_ iy @mGUTEID CHIHOISH&SILLaNEVEm6 eTetTmTeY, BaLpeTer 14 efriaerflsy 11 efyiasener
IHITLD Uy_r;@g@asaa GeuevoT(hlLD 6TEOTM| SFHSLD. UL Serfl6tT eTevoTevol1SH6M)8 = 14C11 = 14C3

_ 14>< 3x12
T 3x2x1 = 364

153) 6 oy60078R61T LOMHM|LD 4 Ll LIETETE 61T 60 (HH &I 5 CLIT DLW (&1, HLPEEETTLEUMD).
i) @5@61516\) BODHSE @) rever(h ClustorasT @)L QUMM
ii) B(WeN6v HBBULEFD G)7evor(h) GILIETETEHET @)L LD GlLmILTMILD
6T556060T 6LENSHH61T160 SIEOLDESHEVITLD.

Answer :

21,688T861T GlLIsvoTas 61T 6uLfl S erfletT sTevvTn0f 1 B:6M85

(6) (4)

3 2 6C; x 4C, 120

2 3 6C, x 4C3 60

1 4 6C; x 4C, 6

186

,600T8 61T Gl LI6ToTS 61T 6u L) & 61l 65T 6T6TUTEBO S 6 55

(6) (4)

5 0 605 X 400 6

4 1 6C, x 4Cy 60

3 2 6C5 x 4C, 120
186

154) +n2= n(n+1) 2n+1)

&6 &5 &G HSMHe060T Lilg 12+22+32+.. (HemesTS G| NEN) 6T6wT (HM1618.
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Answer : P(n) eresTLIG| (HM&EWD Famm : 12422+3%+........+ n? =—n(n+1)6(2n+1) 6T6iTSS
=1 ereor LNFHUNL

P(1) 6or LHS =12 =1
1(1+1)(2+1
P(1) eir RHg = D)
=1
LHS=RHS
= P(1) 6T60TLIG| 2 650T6MLOWIT(SHLD.
P(k) =12+ 22+ 3%+ +k? =7k(k+1)é%+l)
P(k + 1) eT
LHS = 12+ 22 + 32 +... +k2+(k+1)?
= p(k)+(k+1)2

k(k+1)(2k-+1)
== k1)’

i} E(k+1)(2k+1)+6(k+1)"

) (k+1)[k(2k-€1)+6(k+1)]

6
_ (k+1)(2K+7k+6)

6
- (k+1)(k+§)+(2k+3) “RHS
= P(k) 2_esor6n G WISTMITED P(k + 1) 2_680T6mLOWIM(G,LD
5 feM6ETSH S| @6y EHIILNMELD P(n) 2 660TenLOWIM(SLD.
155) n?(n+1)?

sewl55 QBTEHSSMH6 Wevld Senets gl nEN &@Lb SpaaesTLeunenm Bimieys 12 + 23+ 3% +n? =——

Answer: P(n) eT6dTD Sahm| £|,g&38566ﬂ|.61|ﬁ@_| sUemTWMISSLILIHE DS

1P+23+33+ . +nd= Lillany
n =1 ereor NF&HlUNL
LHS=13=1

12(2)°
=0 o
LHS = RHS

= P(1) eteoTLIG) asmsmwu_lrr@m
p(k): 13+2%+ . +k3= 192(1%1)
P(k + 1) o1
p(k) : 13+23+ ..+ K3+ (k+1)3
= P(k) + (k+ 1)

2 2
<D 4 (k413

K (kr1)?+4(k+1)°

4
(k+1)% (K*+4(k+1))
4
(k+1)° (K +4k+4)  (k+1)°(k+2)°

1 1
= P(k) 2_6soT60) 06l WISTMITEV P(k + 1) 2_685T6mLOWIM(S,LD
5 femeTSH S| @6y EHIILNMELD P(n) 2 660T60 OWIM(SLD.

156) &6wflEE CSHMEHHSMIH6V EP6VLD.{eM6TEH G| NEN & &L HLpsa6seTLUMenM Hlmiey s a-b" eredtTLIG| @ — b 3460 611G LI(HILD.

Answer : P(n) Grso‘r;p Ea;pgu SPSHSHETTLEUMM| UM TILMISSLILISSILHE DS
~al-b'=a-b( u@mersm)a b

IJL9.'I n=1ereor

P(1):a-b (=460 su@u@m eTevoT) @ - b

i.e., P(1) 2_6BT6mL0 Q1,BLD.

Lilg 2:n =k ETEOTLIS M (& CLOM &H6BITLFaDM| 2_65TE0ILD 6T60T .
2 ak- bk (160 6u@EU(HI eTever) a- b

- ak-bk=C(a- b)  ..(1)

Ulg 3: P(+ 1) 2 esotemL eTeuT [HlemL988 Geouesor(hlb

P(k + 1) = gkt1 _ pk+1

= gk+1 - gkp + akp - pk*1

=ak(a-b) +b (ak-bk)

=ak(a-b) +b.c. (a-b)[Lg (1)]

= (a-b) (ak+ bc) <60 eUGUHID srsmrr a-b.

eTesTG6U, P (k +1) LD 2_6v3TemLD

asmﬂg,g, QBTESHHNSH6 6 uuu; P(k) 2 65oTemLD 6765160 P (K +1) LD 2 650T6mLD Y EMG.
- N 65T SENEBTHG) GUI6L Lo@uqas@aa@m P (n) 2_esoT6mL0 U EIMGI.

157) ~(2n—1)2"2"

1+ x)?" - 661 eNflaNev B &leﬂq 35 - T6uTE & TesoTLa)
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Answer: (1+x)2"
2n
b6 2mIliemus asrrezm‘rt%H = t%"ﬂ =tpt1

r=n
trr1 =nCrx™ "a"
tni1 = 2nCy, (1) ng"
=2nC,, - z"

nl(2n—n)!

(20)(2n-1)(2n-2)(2n-3).. 54321

_ (em)(2n-2).. 427?2nn! (2n-3).. 531 n

_ 2'(n(n-1).. 21)(2'n'1)(2n 3)..531 ,

- (2n—1)( )' '531 ’
2".n!(2n—1)(2n—3 n

= nln! z

135...(2n23)(2n—1)2"a"

n!

158) (2 + 1)2n6ir eNflefN6 x - e0& &mTE 2 ML MGFGN Hmieys

Answer : (:I} —+ l)%
z
te1=nC, x"Tar

*. 41 = 2nC, X207 (%)T = 2nC, x2"' (%)T =2nC, x2n
X - oW FMINS 2 MILIenUS STeser X —65T (Héens ‘0° e9m(E FLoetTU(HSHS

2n=2r=r=n
*. 47 = 2nC,. X220 = 2nC,,
- 2n' _ (2n)(2n—1)(2n—2)(2n—3)......4,3,2,1

- - nln!
[(2n)(2n 2)(2n—4).. 42][(2n 1)(2n—3)......3.1]
nln!
N 2”(n)(n—l)(n—2).2.1.[(2n—1)(2n—3)....3.1]

- nln!
2" n!(2n-1)...5.3.1

= n'n!

_ 135...(2n—1)2"

= -
159) 2x*+7xy+3y*+5x+5y+2 =0 er6tTLIZ QL 6nL CHISECHETHEBMETES GNISED 6rews: HML([H&.Coaib @&Camblserflsbr
&65f1 5565118 FLOCTLIT(HSHEDEITWLD SITE50T.
Answer: Qam(hHéaslulL &mmun@ 2x2+7xy+3y2+5x+5y+2 =0 @B emert ax?+2hxy+by2+gxy+2fy+c = 0 2_L 65T
@RULNGHILCUTE] a=2,b=3, h—— 5 f—— € =2

5'
a h g 2 5 2
ielh b f:% 3 g
g f ¢ 5 3 2
-2(6-%) - 10-2) + 1 SH)
=2(~3) —5-1+351
__1_2 2 _9

8
ereo‘r(SGu Qarh&slulL sweTunh @rlenL CHi&sEHsT(H&emens Gn&ELW0
2x2+7xy+3y2 = 2x2+6xy+Xy+3y2

=2X(x+3y)+y(x+3y)

= (x+3y)(2xty)

2X2+7xy+3y2+5x+5y+2 = (x+3y+) (2x+y+m) 6T65TS.

x-60T Q& (P& &HEn6IT FLo6TU([HSHS 21+m = 5 M
y-60T Cl& (P&&6em6T FLoetTLI(hl&S 1+3m =5 2

(1) M (2) 3 SF&:s HLO&EG, HlemLLILIg m =1 HMID | =2
(éDe;u QrLenL Cry&HCaT(HseTeT Hestlsgenfl Ferum()
x+3y+2 0 MM 2x+y+1 =0

160) 12x2-10xy+2y2+14x-5y+2 er651L1g5| @TL6mL CBI&HECHT[H&m6TE (&M1& ELW 6T6vré: STl (H&. G| @)&Cs T (h&eM e
565118565118 FLO6TLIM(H&HE06ITWLD ST650Ts.

Answer: 2x-y+2 =0 LMMILD 6x-2y+1 =0
161) (0,0), (1, 2) HMILD (2, 0) Y Ew LsTefserflesr suflwimss Clasvay|b el L gH6T FLOGTLITL6MLE &T6voT.
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Answer : 6ULL&&\6T FLo6dTLIM(H) X2+y2+2gx+2fy+c =0 6T63T8.
6ul L Lomentgy| (0, 0) eT6dTM l_|6TI'6Tﬂ 6uLfl& GlFeL6US 6V
c=0

sulLLomentgy| (1,2) Grafrg) L|6TI'6Tﬂ 6ULPl& GClEav6UG eV
12422+2g(1)+2f(2)+c =0
2g+4f+c=-5 ... 2)
6ULLLDTesTE)| (2, 0) eT6dTm Li6iTerf] euLfl & GlEsveusmsv

22+0+2g(2)+2f(0)+c =0

4g+c=-4 .. (3)
(1) &5 (3) 6L LNFHUINL
49=-4 5 g=-1

FeruT(hlaeT (1), (2) LHMIW (3) —3 ST&E, BLO&EES HlenLLILIG)
g=-1,f =-§ ,c=0
61_ILI_§§-3]66T &wszrrurr@
X2+y2+2(-1)x+2 ( )y+0 0
SISTeU], 2x2+2y -4x-3y = 0
162) (0,1),(4,3) mmId (1, =1) eTedTm L6iTerll&6T sulflimes g QFsveusaalgll 6L LSS 6T FLOGTLIT(H ST6soTs.
Answer : x2+y2-5x-2y+1 =0
163) x2+6x-4y+21 = 0 6T60TM LITEUED6TILISH6IT & &r, (PEn6T, (&MWL, @)W& & euenTulesr FLeTUM(h), ClF616g608 86T [H6TLD
SpFHNeUHEmME STEs0TS
Answer: 4y = x?+6x+21
4y = (x2+6x+9) +12
4y-12 =(x+3)?
(x+3)2 = 4(y-3)

X=x+3)Y =y-3

X=X-3HmIby = Y+3

X2 = a4y

X2 = 4Y 2 L etT UL 4a=4

a=1

(X,Y)23 Qurrg,).lﬁgl(x'wf’xgi:%?gj
9|58 Yy =0 Y=0 y=3

wemert V(0,0) Vv(0,0) V(-3,3)
&eNwib F(0,a) F(0,1) F(-3,4)

QW& @ euenguilsst FeTUm(h (y=-a) Y =1 Y=2

ClFeueLHeVG S 60T [HETLD 4(1) =4 4

164) y>-8y-8x+24 =0 6T63TD LITEUEHETWISS6HT (PeD6TT, &6 WILD, 21587, @)U E6U6D1T LHMID ClFeI6LS60SH 6T [HTLD
SpFeumenm Smesors

Answer:
. . @\wis & euenyuilesT . .
9| & &(Lp6m166T (86191 WILD FeTLIN(H Q& 61U6US6VLD
y=4 | V(1,4) | F(3,4) x+1 =0 4 916V(8 6T

165) £Q5aMLm 6mM
sin (180°—0) cos 90”+0) tan 70” 0 cot (360”

O —
sin (360°—0) cos (360°+0) sin (270°—0) csc —0 1

Answer:

166) . sin (180°+A4) cos (90°—A) tan (270°—A) o 9
LF’)]@_IS).] " sin (540°—A) cos (360°+4) csc (270°+A4) sin A cos™ A

Answer :

167) (cosa — cosf)? + (sina — sinB)? = 4sin® ( 2ﬂ) eTewT [BlMI61&

Answer :

168) cos A+ cosB = 2 wg)gjm sinA+sinB= 7 srso‘ﬂs\)tan(A;B) = % eTeuT (HIM16Y 5
Answer :

169) Bie tan ! (2=) + tan ! (iié) =2

=1y
Answer : tan_l(%) +tan~! (2—3) = tan~! {W} = tan™! (2mj?:4)

T z+2
—1( 2224 s
tan~! ) = -
-3 4
2_
2””_34 =tanf =1
202 —4=-3
N 9+2 1 _n
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